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. Potentia
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5-Nitro-1, 10-phenanthroline iron (11) Pale blue Red-violet +1.25 I-F H2504
complex
2,3-Diphenylamine dicarboxylic acid Blue-violet Colorless +1.12 7-10-F HZSO 4
1,10-Phenanthroline iron (Il) complex Pde blue Red +1.11 I-F H)SO4
Erioglaucin A Bluish red Yellow-green +0.98 0.5-FH2504
Diphenylamine  sulfonic acid Red-violet Colorless +0.85 Dilute acid
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p-Ethoxychrysoidine Yellow Red +0.76 Dilute acid
Methylene  blue Blue Colorless +0.53 1-F acid
Indigo tetrasulfonate Blue Colorless +0.36 1-F aid
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®Data taken in part from I. M. Kolthoff and V. A. Stenger, Volumetric Analysis, 2d ed., vol. |.
p. 140. New York: Interscience Publishers, Inc., 1942.
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